
Maths Homework  

29.4.19 

 

Money word problems 

One step problems 

1. Laura spent £1.75 on a birthday card and £1.99 on wrapping paper for 
her friend’s birthday. How much did she spend altogether? 

2. An adult ticket for a football match costs £3.80 more than a child’s 
ticket. If the child’s ticket costs £14.60, how much does the adult ticket 
cost? 

3. Sue saw a book she liked for £7.99. In the sale it was reduced by £2.49. 
What was the reduced price of the book? 

4. Sam has £27.10 in his wallet. He buys a DVD for £14.90. How much 
money does he have left?  

 

Two step problems (You will need to do 2 calculations to work out these 
questions) 

1. Every book in the bookshop is on a special offer price of £2.99. Emma 
buys 3 books. How much does she spend? How much change will she get 
from £10.00? 

2. Harry went to the cinema. He bought a ticket which cost £5.49, a bag of 
popcorn which cost £3.99 and a drink for £1.99. How much did Harry 
spend? He paid with a £20 note. How much change did he get? 

3. For her birthday, Rebecca was given £30. She went shopping and bought 
a cycle helmet for £14.34 and a pair of gloves for £2.85. How much 
birthday money did she have left after her shopping trip? 

 

 

 


